History of the Schism

See attached timeline 

First Ecumenical Council (325AD at Nicea): Defend the Divinity of Jesus Christ, excommunicate Arius, and compose the Creed of Faith.

Second Ecumenical Council (381AD at Constantinople): Defend the Divinity of the Holy Spirit, excommunicate Macedonius, and complete the Creed of Faith.

Third Ecumenical Council (431AD at Ephesus): Defend the Nature of Jesus Christ, excommunicate Nestorius, and set down the Introduction to the Creed of Faith.

· At one point most of the Christian world would have deviated from the orthodox faith (regarding the nature of the Lord Christ), if not for the defense of St. Athanasius the Pope of Alexandria.

· At the council of Constantinople orthodoxy triumphed, placing limits to the Arian struggle.

· Jehovah’s Witnesses are Arians; we cannot say however that the church is split due to the presence of people who stray from the faith, such as Jehovah’s Witnesses and others…

· The church is the congregation of the Lord who worship Him with a steadfast spirit, faith, and doctrine (in the Liturgy we pray for the peace of the one holy catholic apostolic church).

· First three councils: during the period of the ecumenical councils there were no major schisms in the church.

The Assyrian Church:


This church heritage is in the Syrian language, but it did not attend the Ecumenical Council of Ephesus (as it was not part of the Roman Empire, but part of the Persian Empire). It rejected the decrees of the council and considered Deodore of Tarsus, Theodore of Mopsuestia, and Nestorius, the patriarch of Constantinople, as Greek Fathers (writers in the Greek language). It honors them and mentioning them in liturgies alongside the Assyrian Church fathers.

Their current day locations: Iraq, Iran, India, North America. The name of the patriarch of the New Calendarian Assyrian Church is (Mar) Dinkha, and his patriarchal headquarters is in Chicago. There is another patriarch, (Mar) Addai, for the Old Calendarian Assyrian Church. Thus there are two Assyrian churches.

451 AD - Era of Schism Begins - In the Council of Chalcedon:


This date is called the date of schism, and not the date of separation, because the one holy catholic apostolic church cannot be separated –being the body of Christ; and Christ does not have more than one body.

Churches that rejected the council of Chalcedon:

· Alexandria, accompanied by Ethiopia and Eritrea (the Copts)

· Antioch, accompanied by India (the Syrians)

· Etchmiadzin, accompanied by Antelias in Lebanon (the Armenians). Some Armenian Churches went down to Lebanon and set up the patriarchate of Antelias (a region in Beirut)

· Sum total of these churches is seven.

The Byzantine Churches:

· The Byzantine Churches 

· The Church of Rome -which branched thereafter into the Protestants and Anglicans.

Byzantine Churches:
 The Roman Orthodox totaling 15 churches:

1) Constantinople

6) Russia


11) Poland

2) Alexandria


7) Bulgaria


12) Cypress

3) Antioch


8) Romania


13) Yugoslavia

4) Jerusalem


9) Georgia


14) Finland

5) Greece


          10) Czechoslovakia

15) Albany

Schism between West and East:

1054 AD - a schism within the Byzantine occurred due to the issue of adding to the Nicene-Constantinopolitan Creed, the procession of the Holy Spirit (Filioque –‘and the Son’). This is the major schism between the East and West.

The Protestant Schism:

1521 AD - excommunicating Martin Luther and founding the Protestant Churches.

The Anglican Schism:

1538 AD – schism of the Church of England (Anglican Communion of Churches), also assuming the name The Episcopalian Church. They are moderate Protestants however, because they kept three of the sacraments: B, E, M.

B = Baptism

E = Eucharist

M = Ministry  (this intends the Priesthood)

Reason for developing the contemporary Anglican Church?

Reason for its schism from the Catholic Church was King Henry VIII’s desire to divorce his wife. He remarried six times thereafter, the Archbishop of Canterbury having permitted his divorce in exchange for granting him independence from the Roman Catholic Church. In this church the bishops marry once and twice due to widowhood or divorce.

Among the Faults of the Anglican:

1) Defending homosexuals and ordaining them into the priestly ranks

2) Polygamy in Africa

3) Believing in the Salvation of Non-Believers

4) Ordaining women into the priesthood, even to the rank of bishop

5) Non-commitment to the Holy Bible… introducing human thought

6) Marriage to non-believers
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